PITT Qube SE-25FH-AAA-2
ORMEASEBROBEFT>TEY A, DEMIEFERKERETHIENHYET,
OXRTMEFIOEERIEEENTEY A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/03/27 09:23:17



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SE-25FH-AAA-2

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. i LLE Mg - HE BRI Eff T

1 011332906  |SE-25X #°¥7° F-2 ADC 1 5,000

2 011332503  |SE-25XOR A7779" ADC 1 900

3 011332601 SE-25X Fyun" h7° NBR 1 800|(N)

4 743119032  |MAN BIFRESEANARIL & ||;/|M6 x2 OSW |3 200|(N)

5 014801003  |15A7° 35" 53 1 500[PA-155(4971770-102149)
6 011845003  |32A7°35° 43 1 800|PA-157(4971770-102163)
7 011025613  |SE-25 7779 7" 34yb ADC 1 3,700

8 011025511 SE-25 AS=E ADC 1 2,500

9 012008101 SE-25FH 47A°3 ADC 1 1,500

10 011011401 SE-25 /A" SFAEED v & v — BSP 3 200|(N)

11 011427707  |SEG-25X-A0 WM b STKM &RUE 1 2,000

12 012011201 SE-25FH-AAA-O8%#R TMIYT 44 1 T100((N)

13 012011301 EHO35PX0102 Ot y1vy™ Y 1 0

14 011068504  |SE-25 XAZhly-I 16 1 3,500

15 890255031 oYy 1517-31 1 300|(N)

NBR
16 889855042  |OUvy” P42 NBR 1 200|(N)
17 743119045  |MAN FIEHREEHEIANET Wb M8x20 2 200((N)
SWRM

18 734532057  |[RATRERIL b II\\/l/l 6x4 0SC |4 200|(N)

19 854255006  [J-W7yI¥ ¢ 6 4 200|(N)

20 011712603  |SEI-25H XR—2X 7 X 1 3,300

21 011648701 SE-25FZ A" -22A" -1 SPCT4.5 1 600

22 034812401 SM-25 1977 Y9 93 25mm A1 900|PA-007(4971770-341111)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/27 09:23:17




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SE-25FH-AAA-2

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. RS i BRE - ME B Eff &%

23 034006501 SM-25 hy7°Uuh™ v viy CR 1 300|(N)

24 034078201 SM-257TDF=y7" I ABS 1 300

25 034078101 SM-25 hy7° Yvh* ABS 1 400|(N)

26 011784501 SM-25-15 497°Uu9" 53 1 900|PA-002(4971770-100022)
27 034078101 SM-25 hy7°Uvy” ABS 1 400|(N)

28 034078401 SM-25 25X1545/3=y7° v ABS 1 300

29 034006501 SM-25 hy7° vy N vy CR 1 300|(N)

30 011802204  |SE-25 Ahb-+-53(1E) V%) 1 2,000(PA-021(4971770-111196)
31 940019032 H-AN vp ¢ 32 3 200|(N)

32 940019022 F-AN Vb ¢ 22 1 200|(N)

33 |743119046 |MAN BIERESEAANES I M8x22 |2 200[(N)

SWRM
34 [743119047 [N HIERESMEANAER I M8x25 |2 200|(N)
SWRM

35 011383705 SE-25IR A — R 1"x 3 m 1 4,500

36 011848001 SE-25 9U49Fhy7° YU H3 1 3,600[PA-011(4971770-100060)
37 011380301 PINIPYF: 7N PBT 1 700

38 011402801 BAOYHAARN 932(25/MM) NBR 1 500|(N)

39 011748901 SE-25 #hny) 1T D F453 1 1,200

40 011380701 BARYIN vEY (N AT) NBR 1 500|(N)

41 034078301 SM-25 25X20 T DF=97° b ABS 1 300

42 940019026  [f-an" Up ¢ 26 1 200((N)

43 889855040 [0O)¥) P40-NBR 1 200|(N)

44 889855018 oy P18 NBR 1 200|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/27 09:23:17




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SE-25FH-AAA-2

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. hE w4 AR - ME ERE T e
00 012013704  [SEFNSCHLBERIRERBAZ /44 IV A4 P12 1 0o[(N)
00 [012011504  [SE-25FHEREH (kA Ad 1 200|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/27 09:23:17



